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1. Why do we need to measure the dispersion of distribution? (15 43)

2. When testing for independence in a contingency lable with 3 rows and 4 columns,
calculate its’ degree of freedom. (15 43)
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4. MM IS JiERE ARG - B - L6 - 18 HRERE® - HIERSH
B30% ~25% ~15% - 12% - 10%K 8% - —4% MM F5511(S00 BARESR)
HEne o e brth 180 1 - B 11048 - A0 8 BEmas B
0 45 PE R EE €6 30 45 - Dlau = 0.05 2RPE R LR BIR &5 1ERE? (20 43)

5. —FUKIRE, 1R 49 KACHK SS9 R RS 930 W, MEMEZERS 25 W,
AiE 9% (AR TR PR BRI (15 93)

6. W THNREABEERIZIR - (15 59)

11.3 11.7 14.5 ’ 12.5
12.2 13.2 10.5 14.8
11.1 10.2 10.5 152
2 ! 2

(1-a) a Z w2 x (degree5) x (degree 6)

0.90 0.10 1643 [9.24 10.64

0.95 0.05 1.96 1107 12.59

0.99 0.01 2.58 15.09 15.09




